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1) In the diagram below of circle O, chords ET and Q_S intersect at M. Secant PTR and tangent PS5 are
drawn to circle O. The length of RM is two more than the length of ﬁ, O =2, S =12, and PT=35.
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a) Find the length of RT.
X(x+2)=2-12
X2+ 2x = 24
Xt+ 2x = 24 =0

(x +e)|(x-4) =0
X+b =0 X-4 =06
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b) Find the length of P5.
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2) In the accompanying diagram of circle O, chords ABand CD intersect at £ and
mAC mCE: mBD mDA =4:2:6:8. What is msDEB?

Uy + 2Zx+ &x + §x =360
20% =30

X =¥
+10

7Z 5 Y = mZ~LDER
‘——5-)3’9- = YV Z.DEB

90 = M IDER

3) In the diagram below, quadrilateral JUMP is inscribed in a circle. Opposite angles J and M must be
| - _
3 (a) =

LT =3 (360 -a) = 180-%a
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2) complementary

3) congruent

@supplementary [T+ LPA = _32& + 180 - J G
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~ = |

B = &
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Py = 9&0“‘(,»

4) Incircle O, PA and FB are tangent to the circle from point P. If the ratio of the measure of major arc AB to the
measure of minor arc ABis 5:1, determine m./F.

Ay 4 - 50} -

' : =
bx =360 2
v = . D
X=bl 240 |
: = 2D
&

W\,Ldm/ ove WBR = 5x = 5(60) =300 ‘ 120 ;Z,t;\

Mminer art AB = X = 60



5) Find the measure of each vanable if

mZA=19 andm BC = 118. (not drawn to

scale)
11X = X
= 19
Z
IR = X =3¢
= % .‘,“g"\
X =80

360 — (N9+Q0) = &
300-19¢ = o
162 = o_

6) Write an equation of the circle whose diameter AB has endpoints A(-4,2) and B(4,-4).
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(x=h) "+ (y-¥d" =2
(-4-0)" + ('2—’\\‘ =

(-D"+ ()" =¢?
lp +G = ¥t (x—\n§2+( ’\/.)‘ = (

25 = (&




7) A triangular park is formed by the intersection of three streets, Bridge Street, Harbor Place, and College Avenue, as
shown in the accompanying diagram. A walkway parallel to Harbor Place goes through the park. A time capsule has
been buried in the park in a location that is equidistant from Bridge Street and College Avenue and 5 yards from the

walkway. Indicate on the diagram with an X each possible location where the time capsule could be buried. ‘vtf:\)
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8) Given:
Circle O
Diameter AB
Secants AC and FC
OG s the perpendicular bisector of DF ~
A 1 D~

the measure of arc AFis 110° 30 | [0 = n DI
m/C =30° 2
AO=10

AC=36

Find: the_ measure of arc BD
The length of CE
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